
 

 

Level 1 – Grundlagen – Blatt 1 

Lösung A1 
Detaillierte Lösung für a) 

Gegeben: � � 440 �; � � 88 �; Gesucht: 	 % 

Rechnung: 	 % �
�

�
⋅ 100 �

�

�
⋅ 100 �

88

440
⋅ 100 � 20 %  

 
Grund-
wert 

Prozent-
wert 

Prozent-
satz 

 
Grund-
wert 

Prozent-
wert 

Prozent-
satz 

a) � � 440 �  � � 88 �  	 % � 20 %   b) � � 450 ℎ�  	 � 45 ℎ�  	 % � 10 %  

c) � � 7,50 €  � � 3,75 €  	 % � 50 %  d) � � 220 �  	 � 33 �  	 % � 15 %  

e) � � 840 ��  � � 151,2 ��  	 % � 18 %  f) � � 140 €  	 � 19,60 €  	 % � 14 %  

g) � � 950 �  � � 237,5 �  	 % � 25 %  h) � � 75 ℎ�  	 � 11,25 ℎ�  	 % � 15 %  

i) � � 600 �  � � 240 �  	 % � 40 %  j) � � 1600 ��  	 � 256 ��  	 % � 16 %  

k) � � 380 ��  � � 30,4 ��  	 % � 8 %  l) � � 1400 �  	 � 336 �  	 % � 24 %  

m) � � 1150 �  � � 667 �  	 % � 58 %  n) � � 15400 ��  	 � 9548 ��  	 % � 62 %  

o) � � 440 ���  � � 28,6 ���  	 % � 6,5 %  p) � � 2400 ℎ�  	 � 312 ℎ�  	 % � 13 %  

q) � � 48,80 €  � � 39,04 €  	 % � 80 %  r) � � 800 ℎ  	 � 56 ℎ  	 % � 7 %  

 

Lösung A2 
Detaillierte Lösung für a) 

Gegeben: � � 3780 €; � � 576 €; Gesucht: 	 % 

Rechnung: 	 % �
�

�
⋅ 100 �

� !

" #$
⋅ 100 � 15,24 % 

a) 3780 € sind 576 €? 	 % � 15,24 %  m) 2340 € sind 8742,40 €? 	 % � 373,6 %  

b) 15500 € sind 1312 €? 	 % � 2,01 %  n) 432 �� sind 64,8 ��? 	 % � 15 %  

c) 375 € sind 47,25 €? 	 % � 12,6 %  o) 758 �� sind 54,955 km? 	 % � 7,25 %  

d) 1760 € sind 2024 €?  	 % � 115 %  p) 12400 € sind 31612 €? 	 % � 254,9 %  

e) 35600 € sind 44500 €? 	 % � 125 %  q) 235 � sind 312,55 �?  	 % � 133 %  

f) 780 € sind 273 €? 	 % � 35 %  r) 5760 € sind 1843,20 €? 	 % � 32 %  

g) 12,50 € sind 500 €? 	 % � 4000 %  s) 1843,20 € sind 5760 €? 	 % � 312,5 %  

h) 1250 € sind 500 €? 	 % � 40 %  t) 1438 �� sind 1251��? 	 % � 87 %  

i) 3055 € sind 2350 €? 	 % � 76,92 %  u) 2676,8 �� sind 478 ��?  	 % � 17,9 %  

j) 4580 € sind 1190,80 €? 	 % � 26 %  v) 84,5 � sind 66,6 �? 	 % � 78,8 %  

k) 1337 € sind 4775 €? 	 % � 357 %  w) 366,6 � sind 748 �? 	 % � 204 %  

l) 14370 € sind 11136 €? 	 % � 77,5 %  x) 366,6 ℎ sind 74,8 ℎ? 	 % � 20,4 %  

 

  

 

 



 

 

Level 1 – Grundlagen – Blatt 1 

Lösung A3 

Detaillierte Lösung für a) 

Gegeben: � � 17 €; � � 5 €; Gesucht: 	 % 

Rechnung: 	 % �
�

�
⋅ 100 �

�

, 
⋅ 100 � 29,4 % 

 a) b) c) d) e) f) 

W 5 € 8 - 3 � 15 �� 12 �� 22 - 

G 17 € 24 - 7 � 47 ��  380 �� 12 - 

	 % 29,4 % 33,3 % 42,9 % 31,9 % 3,2 % 183,3 % 

 g) h) i) j) k) l) 

W 850 € 622 � 15 �� 55 � 4 .�� 223 � 

G 1130 € 2,3 �� 3,2 � 1,2 ℎ� 1,3 �� 44,6 �� 

	 % 75,2 % 27,0 % 4,7 % 4,6 % 3,1 % 0,5 % 

 

Lösung A4 

Detaillierte Lösung für a) 

Gegeben: � � 400 €; � � 40 €; Gesucht: 	 % 

Rechnung: 	 % �
�

�
⋅ 100 �

/$

/$$
⋅ 100 � 10 %  

 a) b) c) d) e) 

Einkaufspreis 400 € 220 € 280 € 250 € 1400 € 

Rabatt in €  40 € 55 € 14 € 37,50 € 280 € 

Rabatt in % 10 % 25 % 5 % 15 % 20 % 

 
 

Lösung A5 

Detaillierte Lösung für a) 

Gegeben: � � 26 0�ℎü�23; � � 3 0�ℎü�23; Gesucht: 	 % 

Rechnung: 	 % �
�

�
⋅ 100 �

"

�!
⋅ 100 � 10 %  

 a) b) c) d) e) f) 

Note 4 44 444 45 5 54 

Anzahl Schüler 3 5 7 8 2 1 

	 % 11,54 % 19,23 % 26,92 % 30,77 % 7,69 % 3,85 % 

 

 

 

 


